Physics Worksheet – 3.2 Unit
1. Emily passes a soccer ball 6 m directly across the field to Kara.  Kara then kicks the ball 14.5 m directly down the field to Luisa.  What is the ball’s total displacement as it travels between Emily and Luisa?

A2 + B2 = C2
2.  During a rodeo, a clown runs 8 m north, turns 55 degrees north of east, and runs 3.5 m.  Then after waiting for the bull to come near, the clown turns due east and runs 5 m to exit the arena.  What is the clown’s total displacement? Use graph paper
4.  An airplane flying parallel the ground undergoes two consecutive displacements.  The first is 75 m 30 degree west of north and the second is 155 m 60 degrees east of north.  What is the total displacement of the airplane?

Use Graph Paper
